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The questitjn péper consists of 6 questions.
Attempt any five questions.
Al questions carry equal marks.
Use of simple calculators is allowed.
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Use the concept of the production possibilities frontier

to explain the concept of an efficient outcome. Explain
the difference between a straight line and a concave

production possibilities frontier. 5

Using indifference curves analysis, the impact of a change

in price of a normal good on its consumption using

substitution and income effects. _ 5
Consider a non-lincar demand curve, 5
=k - ")

Where A and B are positive constants.

(i)  Show that the price elasticity of demand for this
demand curve is (-B) at all points on the demand

curve.
(i)  Write the equation of the total expenditure curve. 2

(iif) Suppose B =2. Will the total expenditure rise when

price increases ?

IqeA FEHEAAl % (production possibility frontier)
HI Tl | FHIE (efficiency) H1 @Y B
GEARY | 9 m(straight line) @ AGAH (concave)
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(b) SFAMYHE T3 favEU (indifference cu

WAl ¥ Fia vfEadd & gfivmasy 89 9
YITRIT9 § 3119 IWTE (substitution and income effects)

F HHARY |
(¢ frafafes sitfes = a% W faar =i,
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W& A 9 B W i €
() wumse foF 3@ A oaE @ w4t fageli w

[T T HET A= (price elasticity of demand)
(-B) ¥

(@ A m.'ﬂﬁ (total expenditure curve) 3T THTEHT0]
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(i) WA e f& B =21 w0 Fiva # af 2
sRorrEey =9 § gfg gt ?

(@) Discuss the effects of a price floor imposed by the

government in the labor market. 5

(b)  If the world price of a good exceeds the domestic price
of the good, will the country export or import the
good ? In this case, who gains from trade — domestic

consumers or producers or both ? 5
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Explain how and why a per unit tax creates dead Weight

losses in the market. Can the dead weight losses b,
avoided if the consumers and producers voluntarily donate

the tax amount and the government repeals the tax in the

market ? 5

5 AR ® HIAA 1 FAGH HHE (price floor) T
fFr 9 & URUHE®Y eSS (short run) F

@ (long run) H B A i @ WIS
guEt w1 faa=m =i

afy faret =g+ Afvas FHa IS W HEa

§ s &, A 39 W W 39 aw @ Gl w0

=ifew o1 aEE ? 34 fefa & =R |/ e e

A ¥ — e SuWERmSl ® A IR FH Al
e i 0

gaee & fFg yer 9fa 3 & IROHEE
AR H HEA WK THEE (dead weight loss) ITH
T %1 Ak SR TE R T X S SYHRT
A IaEEH W Y HL H AN H T F T Al
N HE WL GHEYA B TN W GHA § 7

The recent drone attacks on Saudi Arabia destroyed oil

facilities and the country’s crude oil production is expected

|

t d " . ‘ . . I
o reduce s:gmﬁcantzlg in the short run. Discuss the impact ’
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of drone strikes on the petrol market in the world and

subsequently the used car market. 5

How and why does a firm's average total cost curve differ

in the short run and the long run ? 5

Calculate the income elasticity of demand of good X from
the following data. Hence, conclude whether X is an

inferior or normal good. 5

PRICE OF QUANTITY OF INCOME OF
GOOD X (Rs.) GOOD X THE CONSUMER

20 40 200

10 . 50 100

10 2 : 400

(a)

(b)

[Ia!l 3R H T o H T g Tl 4 T°l &
I F FHal F1 T T G ¥ Fows forrasy
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1 31 g F1 T Sifee | 39E e Ferfer
fir a1 T X T& €A (inferior) T € A1 Wy
(normal) 9% (4

ae X & T X W IqATET i
A (%) LiEl T

10 50 100

2 40 200

10 2 400

(@) A country levic-s a 3% digital tax on the revenues earned
by a local internet search engine company. The company
responds by reducing the hourly wage raté of all its
employees. Using indifference curve analysis, show how
the workers may respond to reduction in their wage rate. |

Will your analysis depend on whether leisure is normal

or inferior ? 7

|
()  The demand curve for Metro rides for a female employee

Vidhi is given by : 8

!
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Where Q is the number of metro rides she takes per month

and P is the cost of the metro ticket.

() Suppose the supply of metro services she avails
. is perfectly elastic at Rupees 30 per ride between
two destinations. Find the equilibrium number of
rides taken by Vidhi per month and the consumer

surplus enjoyed by her.

- (i) The government proposes to make metro rides free

for all women. Calculate the new equilibrium rides

and the consumer surplus she now enjoys.

(7if) If Rupees 30 represents the total cost per ride to

the supplier of metro services, do you think the

extra trips Vidhi takes is economically justified ?

UF W TE WHE iz 99 T gr FEm
T TS R 3% F fefvea ot o 21 #) =9
YW | FEA o wef s 8 wf e
WG W W w2 ¥ sERmE mw favemo
F HEH A iR R wER st meed =
# wlt 1 foFw yR wegw R wwd ¥ w3 e
faveme g0 @ W fasi @ & fF SR (leisure)
I ¥ A"Er g9 2
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() WM dife fF 3o g A ¥ @ wm
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qofd: SRR (perfectly elastic) ¥1 TEH
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(i) A% ¥ YA Y ¥G H A 30 FIT G
= ®, @ F I o € T fafy gm
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AT (economically justified) F 2
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Define price discrimination. Can perfect price

discrimination remove the dead weight loss associated

with a monopoly ? 4

Why do competitive firms stay in business if they make

zero profits ? Explain. 4

Consider two countries Japan and Australia producing

tWo goods T-shirts and brownies. Each country has one

million workers. The following table gives the production

of two goods per worker per day in each country : 7

T-SHIRTS | BROWNIES

[IN DOZENS]
JAPAN 10 18
AUSTRALIA 10 10

()  Which country has absolute advantage in

producing brownies ?

(i) -Draw the production possibility frontier of both

countries.

(7if) By calculating opportunity cost, find which country
has comparative advantage in T-shirts and brownie

production ?

(i/v) What should be the pattern of trfade ?
P.T.O.
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(@ @A fa9T (price discrimination)
RIS | & ‘I“f iva favg (perfect price discri_mination)
THIHHT (monopoly) ¥ Taifem e wr zfy i
W IW@ME ?
(b) wuﬁwﬁﬁwﬁﬁﬁmguﬁ
3 Y Y HE E 7 wwmmy

(@ [FE, AR T A T T D 2 s
 sefe W frem #if) frafafa b §
Yo 39 H 37 axgelt @1 wie wfvew whifes s
e gom ¥ ¢

Zr-wE - T
[E5i7 ¥ ]
S 10 18
st feran 10 10

() T ® IO # fFg 2w B gw Oy

MY (absolute advantage) & 2

(if) rﬁﬁ%wwaﬂaﬁm
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qEATcHeh Y (comparative advantage)
fru-fFa <o % T8 ¥ ?

(v) TATYR T TEY (pattern of trade) FT Bl

=ifeq ?

(¢) Derive the demand curve for labour in the competitive

market. What causes the labour demand curve to

shift 7 Explain. 5

(b)) Why is a monopolist’'s marginal revenue less than the
price of its goods ? Show the profit maximizing level of

output and price for a monopolist. 5

(¢) Consider variable cost for a competitive firm in the

following table : 5

Quantity 0 1 2 3 4 5 6

TVC [Rs.] 0 - 9 14 20 28 38

- If the total fixed cost of the firm is Rs. 12 and price of
output is Rs. 7, how many units of uut];Jut will this firm
produce ? What is total revenue and total cost ? Will
the firm operate or shut down in the short run? Briefly
explain.
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| W(F.ﬁ) 0 -5

{12) .

(@) Wiceaell (competitive) TSR H %
= BT 5H F AN TH B w5
SIR (shift) B ¥ 7 WS

(b) UHTHHR hT WA TS IR T3 FY Fhye
¥ w9 A TEhEE SR 9 o
AfUFTH F A TR T FEG g

(0 TF wfeensdi wd ¥q Frefafen aroft § & w
A R (fixed) T q HA =R (variable) T

R foEr Fifsw .

HIEAT 0

& =

9 | 4| 20| 28 | 38

ﬁ@mm 12 ¥9Y 99T IAE B HEd
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